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[nstructions : Each question has four apfmns

to each
There is enly one correcl answer
question. Choose the MOST APPHHPRIATE
option and darken/blacken the corresponding
circle on the OMR Ar:swar Sheet.

_I'. e

A f#cﬁadﬂ“
Ry POE

|  Choosethe correct spelling from the given

SECTION — ‘A’

A
3T
(4) Sanccion
S Ha 2 SR
002 Ehﬂuse thr: word uppl:lsltf: 'in m"i::anm g m .
. the given word. o :
Forgiveness . j:;f.;: A
(1} Restore .4 & 3
(2) Decline G

.;3{ Withdraw

honest officer.
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004 Identify the tense of the followin:

sﬁntanue . ol
ol The Sun sejtﬂ in the West.
(1) Present Indefinite
(@) Past Indefinite

\ I'r {3} Futurc Indefinite’

:u-‘} |II ] 1' i i R E:.r
005 Fill in the blank : _*;. o\ -:,
: ufﬂ:e:ae ﬁmducts

(1) quality. is ﬁi"i

(;2{ qunl ity are

1;3'} qua‘llty were
._: { @

|
[

H_'llil.lltlﬂﬁ, is

-

Read I.ﬁ:e following passage carefully and
answer the questions given below : Q. 006-010

It is he:llfnred that a pashmina shawl is as

| Wool is collecte

warm as six SWE-Eltlf:.rs' It is very thin yet very, |

. The goats from which the soft pashmina 4!
ound on very high'
. In winter, the
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lemperature here drops below 0°C (—=40°C). A
“oal of warm hair grows on the goat’s body
Which protects it from extreme cold. The goats After almost ____, - of weaving, one

008 Choose the correct option:

shed some of their hair (fur) in summer. This plain pashmina shawl'is made.
hair i that six of th | -
air is so fine that six of these would be as thick (1) 100 hours
as one hair of vours! it
The fine hair cannot be woven on (2) 150 hours
machines and so weavers of Kashmir make

: S (3) 200 hours
these shawls by hand. This is a long and difficult

process. After almost 250 hours of weaving, one gﬁ)/ 250 hpurs %0,
plain pashnmina sliﬂ:,ﬁrl is made. Imagine how ::E.I
long it would take to make a shawl with .
embroidery. v 009 “A coat of warm hair grows on the goat’s
body which pr::-tﬁc:’;.é it from extreme
006 Choose the correct option to fill in the cold.”
blank:

: : : [dentify the part of speech for “hair” from
It is believed that a pashmina shawl is as } _
= the given sentence.

warm as 0. )
(1) three sweaters! " Verb il
42T six Swaat-::_rsr @ Noun Y5
(3) ninc sweaters!
(4) eleven sweaters! (3 Pronoun
4) Adjective
007 Choose the gorrect statement: : &
(H The goats shed some of their hair i
(fur) in summer. 010 Choose the opposite of ‘thick’.
|[.2}I The goats shed some of their hair Q) e
¢ (fur) in winter.
. ) The goats shed some of their hair (2) soft i
?A {fur) in rainy season. (3 thin j
) (4) The goats shed some of their hair H
(fur) in spring. (4) fine :.l
1= . dll-
Ei&ﬂ'iOLAEIBIE-I_E ] 3 [ Cont
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011 Tdentify the adjective from the given
options -

(3) Birds
(4) Remains

012 Fill in the blank with correct degree of
comparison: M
[ have money in my pocket.

(1} Not so more

27 More . Y

(3) Most

(4) Iﬁany

013 Choose the word that is opposite of real

’I_:].] Reward
@ Imaginary
{3y Wise

(43 Modern

EN/HOLAB/B24 B |
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014 Choose the correct spelling=
Qf)’ - Receive ;:I'iii“
(2) Recieve Ilr'*"'
, ""?.1
(3) Receeve '_
(4) Receeive '

| 015 Choose the correct option o improve the

sentence and IE:PIEI.E'E it with underlined

word -
i
i

‘Did there bus come on time?’

{3)  their’s

' {4) No improvement
Qs

(1) will leave
r,(-'l']"a leaves
(3)  had left
(4) has left
017 Fill in the blank with ﬂﬂtah]'é quesnﬂn.tf;
"I needn’t ask him, T ;

W.;anl ‘_-_h i i

(2} am] ; ..*
[ Contg



018 Complete the sentence with the correct

019

020 Fillin the blank with suitable conjunction, |

021
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form of verb -

The train __ suddenly.
(1) s stop

92') stopped

(3) was stopping

(4) has stop

Choose the sentence having intransitive
verb.

(1) Boys fly Kites
(2) Birds fly

(3) Karim ran a race

m/ He burnt his diary

ldonotknow  hehas goneor not.

(3) through
(4) vet

Complete the sentence with suitable

article -

Ram is student whom we all
%xpect to get less than 35% marks.

\

‘\_El'fr"“ a

(2) the
{3) that
{(4) an

EN/HOLAB/6/24_B |

022 Fill in the blank with correct preposition=
The speaker is going the subject.
(1) from
(2) “off

B0

(4) within

023 Fill in the blank with correct word.

*Akbar’s army o e _;t;l:ﬁ"_pastlr: of
Chittorgarh’, | i

T
i
o et A

024 Choose the correct meaning of **Beat the

air
(1) To make useless efforts
(2) To be victorious

427 To be defeated

(4) To defy

025 Choose the word opposite in meaning
from the given option:

THREAT

(1) MENACE
m/ THOUGHTFUL
(3) SAFETY

(4) PROSPER

[ Contd...
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Instructions : Each question has four aptions.
There is only one correct answer to each
question, Choose the MOST APPROPRIATE
aption and darken/blacken the corresponding
circie on the OMR Answer Sheel.

SECTION - ‘B''+ MATHEMATICS

026 26kg+3ke700g="_"7 _
(- 6kg300g

", "' *
“2) S6kg 2.6
(3) Skg300 g e O A
(4) 6.7kg Car? .
027 The side of a cube formed by melting a
solid  cuboid with dimension
o Jem = Bom =9 emis
() 6cm o (2 4em
Ea_':_“’_...-ﬂﬁ'gi 3y 3om @) 5 én

%"% A gl
“ 028 Eight small cubes each having edge

2 ¢m are arranged to form a large cube.
The volume of the large cube (in cm?) is :

(1) 48 (2y 60

e o 64 (4)y 72

029 1f the cost of 420 oranges is T 2.520 then
the ¢ost of 8 dozen oranges, is :

(1) % 480 @ 528
(3) T 540 (4r~ %576

30 If 16 bags cost ?‘:1 .520, then the cost of 3
pags Willbe:

e 240 NI
3) 20 e

0

(2) T255
(4) T285

g 1 B
= nﬂ.l'ﬁu'rg“a—ﬂ] q:-%ﬁ'. aﬁ.}ﬂf \L

S L
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- &) g 99T F

ﬁgﬁﬁ'ﬁ'ﬁ"ﬁ?i‘ﬁ‘#mﬁ WL A

026 2.6 et + 3 Resmm 7009 =__?
(1) 6 fsmm 300 9%
(2) 5.6 fewimm AL
(3) 5 Rt 300 77
(4) - 6.7 e =+

o
("
s

5 v T ey e 3 ek < 8 @ % 9

027
U1 T, i eSO u S a A
EEIT%: iy
(1) 6% 2 &
(3) 3% c4) 5 A
028 oits 12 7, PO & e 251 foperay
] Eﬁﬁi‘r
&I T T2 A 4 & f O
ﬁmﬂm{ﬂjﬁ}%:
(1) 48 @ 60
(3) 64 o) T2
029 uﬁut}ﬁﬁm:ﬁ-& 2.520
R g & b 8wkt
(1) T 480 €2y ¥ 5o
(3) T 540 (4) ?5?.,5
030 afy 16 =%t & g5 T1,520 & 2 :
e 3w
(1) T 240 (2) Tioe
(3) T270 (4) z';:g:
nc b i@hnm
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031 ¥
e
o0° o0°
g r g \)
[y

Which of the angles in the given figure is/
are equal to three right angles?

(1) Ze and Zc only

(27 Zc only

(3) e only

(4) ZLe, Ze, Zf and Zg only

032 Name the type of an angle whose measure
is 26° more than the difference between

the angles 146° and 82°.
(1)
(2) obtuse angle
: G
ﬁlght angle v V el
(4) reflex angle QR
b
£
033 Two angles of a triangle are 40° and 50°,
respectively. Name the triangle based on
sides and angles.

acute angle

| (1) Scalene and acute angled triangle

Mﬂciﬂmﬂ and right angled triangle
(3) Isosceles and obtuse angled triangle

(4) Scalene and obtuse angled triangle

o B |

- w E e dam rae

— ]

.

+91 9030409797
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...-"iﬂ- IIJL'-]
=4
d [ 2 g 300
‘\_).::

& 5% SRt ¥, B2 B & A A
HHH & T B

(1) %FHaw e am e
(2) e Le
(3) ®ad Le

(4) Faw Le, Le, Zf 7m Lg

TH HIOT N WEIL gan fAee 7y 146° 99

B2°% B o AT 26° o B

(1) =i
(2) s
(3) @B

(4) e

Pt Pt & =1 a1 A 40° ST 50° B
el e il T anETd g6 e & A

AT
(1) ferwarg @an = Fga
(2) wwmw
3) mwmﬁﬁﬂﬁﬂ_
Wﬁmﬂﬁﬁﬁﬂwﬁﬂﬁ
{ Contd...
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034 Which of the following fractions will be | 934 Fsfafas fa=1 2l Py B 7
at the third place from the left, when these airr & dre w9 i '

fractions are arranged in ascending order? e
88 i : :
ﬂ@%{ﬁz‘ig ?ﬂ*g' 11-:152“1-_!:}-' :
ier L g 3 '5' E ]4 I
b 36 ﬁq 14 - 1 s
2 5 2 H2) =
g = Lk 1 3 o 6
‘ T 9 7 @ =
f,"' (3) P (4) 12 (3) 2 [ 1¥
o . |Iﬂ .
035 Arrange the fractions E,E,i,g in | 035 i,i,igwwmﬁmﬁw
A 9"5°11"7 957117 i
o:L descending {:rder i lLr
Hale!
33 2% 2385 9 g W E5eoua o
o {” byl i R "y P Ty o e _EL ."_?.. E L= 2 iy, o ] e e
J"% 117 9°5 /QJ/S 7 911 (1) 79’5 (2) iyl ig
22 2 2 2 22 2
; (5} Rk S B G & e G & AN2 2 2 2 I ded 2
' - Ly N e o e 4 A gy
93117 LI T8 55T Y areas
036 The |axg¢5tamﬁngthaﬁ‘a¢tmn3£ LA 36 22 T o 6 i;_!ﬁﬁﬁﬂ’ﬂﬁ 4
I@L{:"sénd i,:s 5 1
us 13 )y = {3y -2
o 9 11
o0 5 4
= 2N~ 7
Qe 9 1 By = W S
13
7 (i}
¥ — 4 —
gesty) W e ,
: 7 \
o {é)esﬂ{_ﬂér 037 mmﬁhﬁq_ﬂw%m
- 037 "i'v’hﬂtshuuldbeadded to — to get% ey 7
T 1 1 1
SN 1 L 1 i, oeo%
AR\ = 2 36 M 8 B 36
: 144 ci A 3) — ; 9
b Eﬁ_ b (4) 17 ( 65 ...I.H} F
b o
ﬂq/ﬁ L o '
i6/24_B1 [ Contd...
;:NIH':'LAE — 35\ Wy
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038 Three cloth picces of length 7 m, 7.5 m | nag wuz % A Zast Frert T e 7 A,
and 9.5 m respectively are cut in pieces of 7 5 draar9.5 A E, 1 e s
idsatival maiam feogii The leagih.of 35 e 2 T T O N g o
each small piece (in cm), is : 1 )

(T ) & e ,}g-
= =y e
Ly 25 2} 30 (1) 25 (@) 30 N
(3) 40 L (4) 50 @ 0 | ﬁ} 8 M{}E[:;
i€ « _——
<O S = 5
o =
; r . - i

039 The LCM and HCF of two numbers are 039 ﬂ:r e e m ot e
150 and 235, :r_r-spe-:tively. If one of the T 150 7 95 % | iy demat 4 ¥ T
numbers 15 Tﬁ';:‘_t__hun the other number is ; T s e ¥
(1 29 (2) 32 1) 29 ! @) 32
(3) 40 - H—30 (3) 40 : {4) 50

o = Lo
f;\r’ﬁﬂ'ﬂ‘ "Fé :

5 i --J_..-_-——___l' |-
e e ¥

040 A shupkeepﬂr.bbﬂught a table and a El'lﬂ'il’ 040 T W :'_lr wF ﬂ"-'ﬂ '3“_{ e 7 aﬂﬁ T
for ¥ 1,900 and T 600, respectively. He 2 1.900 o Z 600 F wivdh| 3Et 3T T
sold both the items to Ankit with 15% s 1 15% a3 e a9y oiftea X A

{h{j profit. How riﬁfu:chﬁnkit paid for the table e gt 85 fore e Iﬁq T
H b
‘-"-"5'*&"? and the chair?™ = :
: 1 a5 |- (1) 2,515 = )
(1) Z2515.0 L
\ ?;ﬁ (2) T2,590
v
(2} "¥2,590 v e
L '_)_6 {3] 3 2,?35 l
e \ 0
(3) T2.785 A %=, 3
x Pl (4) T2.875
T 2750 =g ?ﬁ %%5 |
U 2D S [ Contd...
L 9 ey
EN/HOLAB/6/24_B | Qj:i : Eﬁ
s
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041 Inan examination Divya scored 5
out of 400 marks. The percentage of

marks, she scored is :

340 marks

(2) T6%

rB5%

(1) 60%

(3) 80%

%xﬁj @2
- . é . %
042 The number whose 20% is equal to 10, 15:

2) A0
(1) 30 (2) Y,

a0 (4_} 56
P T:;- b Jr $/¢;

-— :TFI-
D43 If 46% of a number is 115, then what is
150% of the number?

5
=

g = 1
044 A metallic rod was heated 1o a temperature

of 1207 C. Later, its temperature reduced

¥ 34% C and then 'its temperature was
raised by 45% C. What is the present
temperature of the rod?

(1 168°C (2)

;f,,? T4 1rEc (4)
%/

045 A vessel is heated to a temperature of

62° C. The temperature of the vessel in
degree Fahrenheit is :

EE%

(2) PYE
(4) 374

J

¥

=
154° C
79°C

(1) 143.6°F {(2) 94°F
(3) o6.4° F y 30°F
4 B
EN/HOLAB/6Z%- 2%
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i wﬁmﬂﬁﬂﬁdmaﬁfﬁﬂ34ﬂﬂm
mﬁthﬁﬂﬁﬁﬁﬂ“ﬁﬁmt

(2) 76

(4) £5%

(1) 60%
(3) 80%

042 = dEn frmas 20%, 10 % F08L &, w0

&) ) 40
(4) 56

(1) 30
(3) 350

043 af Pl Tem 37 46%, 115 ¥, o1 =6t dey
#1.150% T & ?
(1) 300 (2) 275
(3) 415 4) 375

uTg U A 120° 9. 5% 1 Rear )
T A THE A 34° A, w2 @ s
ST A 45° 9. gar | v 5y adan

044

AT TP
(1) 165°C (2) 1542
(3) 131°C 4 79°¢

045 uF == @ 52°Cﬂm=rﬁqﬁfjﬁ"“ml
aﬁamaw%aﬁﬂﬂhmgzifg:
(1) 143.6° 0%

(3) 66.4° g

2\

) 94° e
(4) 3[!‘:"4;!:,;';JT

[ Contg.
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Match List-1 with List-II :
List-1

Half of a circle L
Half of The 1.
longest chord
of a Eircll_;:

The line*’
segment which

List-1T

Diameter

>

Centre of
circle

IT1. Semi Circle
divides a circle

in two eq:_ual

parts
All diameters  IV.

of a circle

£y

Radius

intersect at a
point

Choose the -:éri-:er:t option from the below:
A-IIL, BA1, C-T1, D-IV

(2) A-III, B-IV, C-1 B-11

(3)  A-1L B-HI, C-TV, D-1

(4)  A-TV, B-1ilL, C-lI, D-1

L

circle.
In the figure (@ is the centre of the

- F.' :
If 4B = & cm then the length of OF 18
(1) 6cm I.Ir' @) ::::
(3) 3em

11

+91 9030409797
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'Eeh.lmﬁiﬁ—ﬂiﬁmﬂﬁﬁﬁﬁ:
-1 -1
g T AT | I. =H

B, o % wad II. ga® &=
aﬁrﬂmm
e &

C. so@mdremA I eEgd
Tl ¥ AT
e TETE =

D\ god wh e IV, Bem
T g T
iR W 6 |

Frer 3 & Tt Farmes : v=s

A-IIL, B-1, C-IL, D-IV
" ACTIL, B-IV,.GAL, D-TI
A-IL B-IIL, C2IV, DI
A-IV, B-IIL C-11, D-1

(4)

oty O g9 F e B9 AB = 8 Wit R,
d OP o A ¥:

(1) 6&d @y 4w
(3) 3 & (4) S
[ Contd...
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048 Jaspal purchased an old car for T 1,18,000
and spent ¥ 7,000 on its maintenance. If
he sold the car for ¥ 1,40, 000, then his
profit percentage is:

%E.ED (1) 10%
-———ﬂj} 12%
ELE%
Sﬂﬂ
®—049 The supplementary ang_!e of the
complementary angle of one tenth of a

A Dﬂ 'ﬂ""-"' right angle will be :
L0 ieh

\ @) 11%
4 12.5%

TWQD (Z) 88°
—3) 81° ?:x..;G'Eﬁd]-' 1012
N

050 The supplementary angle of three times
of the half of a right angle is:
“"’w o3 £

fdaee

A. Acute angle

B. Obtuse angle quaé)-
s /Cf/;.'.i ght angle E‘ ¢
: A i
'_E', D. Half of a right angle %
! (1) OnlyA (2) OnlyC %~
e =t (3) Only AandD (4) OnlyBandC
%ﬁr

gyﬂﬁl In the given figure, the value of x is

‘3’.; o
Sy /9\
Py '

ﬂ ) 82 (2) 90
&43] 100 _(4)-98

EN/HOLAB/6/24 B

_.J-._'III..
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e T 7,000 o8 TE—T@g TT =4 ) qf:

e &g e T 1,40,000 % &=, o THEan
i &:

(1 10% (2) 11%
(3) 12% (4) 12.5%
AR 3 SHY WS QIES B T
B
(1) 992 (2) 88
(3) &1° (4) 101°
e T % omd & R W gegTEEy
BT
A, RO
B. afussm
C. dwsm
D, |E& & A
(1) HEwA (2) #EmC
(3) ®EAMD (4) FawBanC
3 &S ATERT F x wr A
‘;\A
=N
/9\
(3) 100 @) i

[ Cantd
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052 The sum of the greatest 4-digit number ang
the smallest 3-digit number is:

(1) 10000 (2) 10110
/@I/}{mgy

(4) 10999
053 The difference between the greatest ang
the smallest 5-digit numbers formed using
the digits 0, 2, 3, 3 and 1, is:

(1) 45555 (2) 44444
(3) 43205 AT 42975

054 Which of the following numbers is

divisible by 37
(1) 518932 & 17342
(3) 213454 (4) 337625

055 1511.-:-1+E|'ﬁ1+6—4= fi

(1) 10 (2) 2
4 . (% 64
M V6 ":rt 784

056 Jayesh and Mohan started a business by
investing ¥ 28,000 and ¥ 35.000,
respectively. At the end of the year Mﬂh?n
received T 6,250 as his sharc in the profit.
The total profit in the business, is:

(1) %9200 (27 T 10,000
(3) TIN50 (4) T12,250
057 In a 20 kg mixture of yellow pulse and

black pulse, there is 4 kg black pulse. The
ratio of black pulse and yellow pulse in

the mixture, is:

15 @) 1:4
(3) 4:15 (4) 1:6
ENHOLAB/G/24_B ) 002

+91 9030409797
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054

055

156

057
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4 aff = TAH AL T A 3w
T w1 A

(1) 10000
(3} 10099

10110
10999

(2)
(4)

(h, 2, 5, 3 @ 1 aiepl &1 9L 86, 7 a9l
5 sl 7 wEE T T wEE W e @
Hl 8

(1) 45555
(3) 43205

(2) 44444
(4) 42975

0 ) 7 ol 2 - e 3 & P

S, oo

(1) 518932 (2) 117342
(3) 213454 (4) 337625
144 0% 2+ 6 4= 7

(1). 10 {2y 2

(3) 34 4) 64

witgr offt "@es & wmas: T 28,000 T
T 35,000 Py w73 U =9 g e W
% ar= o G W oAy F e fEw e we o
¥ 6,250 feh | =T F Fw w0 B

(1) ¥9,200 (2y ¥ 10,000

(3) ¥ 11,250 (4) ¥ 12,250

et = i FT = & 20 fem fe F, 4
fogrm el e &0 Pysr F T E AT e
am H e &
(1) 1:5
(3} 4:15

() 1:

l
4] 1:6

[ Contd...
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e *I]“*"‘-‘F"h borrowed ¥ 25,088 on simple
nterest al the rate of 6% per annum for 4
years. How much did he pay at the end of
4 vears?

= (1) 30,000 @ T 31,000
s 3) 31,800 (4) ¥31.920
59 |

059 In how many years will a sum of ¥ 1,800
_—= hecome T 2,610 on simple interest at the

6b o rate of 9% per annum?
-,L,"Un ‘e s
@
509 @) 6 e gy 4l
g L-:rﬁ &) 43
-si.iﬂl-uuﬂ‘
= o
060 The perimet&ﬂﬂf the given ﬁg‘&re, is:
{—fcm QJEITE
I_.
fcm ﬁal _— ' cm
?’cm< > cm
4 cm Aem
4cm cm
‘rfum /Z’ ¢m
I.\,'LJ
(1} 32em'\O (2] 40 cm
48 cm (4) 32cm
L
i

061 Pinky runs around a square field of side
50 'm and takes 6 rounds. Shruti runs
around a rectangular field of length
160 m and breadth 120 m and takes 2
rounds. Who covers more distance and
how much more (in m)?

(—Shruti, 80 m  (2) Pinky, 80 m
(3) Shruti,65m (4) Pinky, 40 m

EN/HOLAB/EI24 B
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ﬁﬁmﬁ?li,l}ﬂﬂ,ﬁ%ﬂﬁﬂifﬂﬁ.?ﬁéﬁ
for T ST oY SuT AT I 4 9
e fmaT Tisr g0 ¢

(1) 30,000 (2) ¥31.000
(3) T31,800 (4) <31,920

9, Trftfen &Y & AT ST T fohert o,
Z 1.800 = Tfyr, T 2,610 &F AN ?
(1) 4 (2) 3
(3) 6 .TH} 42
& g4 amghi @ ufAT
2 HAL A2 T
49| |4 @
> dt 4 ady 4 T )
29 2 gy
4 HAT 4 Fey
4 HHT 4 49
2 N2 40
(1) 32%H 2y 408
(3) 48 &

o (4) 52

it 50 =, Yo ATe T TR 61 & 6 T
W % 1 gl 160 1. @ w120 6, 9 0
ATIATETT 8 & 2 TRt @l & | B ol
=ft aa wan & o Tt arftrs (< &) 7

(1) gFrr 80+  (2) g, 80,
(3) gL 654 o (4) T, 404,
[ Contd..-
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062 1fithe average of numbers 12, 15, 19, k
and (k + 5) is 13, then the value of k_ is:

[2) 5
3) \7 anea(4) 135 o
(3) 'L '1__}&&‘5 ‘-ﬂﬂg.,rk e :'?I’?.
x‘lk"-'gk'l‘%'ﬁ-ﬁ-':h"h- _:"_:___.-
063 The Feragﬁ WEIE‘R"I nf five friends
weighing 48 kg, 50 kg. 5% kg, 55 kg and
49 kg, is : .‘E"
(1) 50ke 55
(251 ke - E 6
o,
(3) 52kg
(4) 53 kg e
=,
064 Read the given statements and choose the

correct option:

Statement - I: Two distinct lines can

intersect in more than one point.

Statement - IT: More than two lines can
pass through one point.

(1) Only statement I is true

[_('.}]’/E.'lnl}r statement I1 is true

(3) Both the statements are true

(4) Both the statements are false

065 If x =30 and y = 120, then value of

+91 9030409797

www.kranthinavodaya.in

062 af 12, 15, 19, ke (k + 5)weait a1 s
13 &, o k &1 9 &

(1) 3
(3) 7

@) 35
(4) 135

063 48 fism, 50 fm, 53 fm, 55 Femn @wm 49
e T ey e st ot afreE T g
(1) 50 feeeirom

(2) 51 Reemme

(3) 52 feemms

(4) 53 FReom b

el R weel w1 w afre wEl fawer g4

&~ 1 2 o Eﬁﬁﬂﬁﬁﬂﬂﬁﬂ
wfeEiE &1 Hadl ¢ |

A - I1: & & s et o fag 9 eee
el & |

(1) Tem ey l9aE
(2) Fam BT EA
(3) EFl HYT a8

064

(4) = e FEE &

065 T x=30ay= llﬂﬁﬁ‘f!ﬁ(i+5}+l
1ﬁ[£+5]+1 g 92 "“?
% L &1 1 &
(L35 @4 T (1) 85 (2) 84
(3) 21 4 17 (3) 21 @ 117
Ga3= 1
LR B Ll 115:‘ 4 15 [Eﬂntd---

8-90, P S Rao Nagar, Dammaiguda, Secunderabad

, Telapgana 500083,
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III.

. 5 '
066 The decimal form of fraction gﬁ is: 066 o= ry &1 39t w9 & /
(1) 0.5% 7) 0.62 L. (2) 0. Gf
ol e-is (4) 0.652 (3) 0625 {4} 0(75
>$ i .t _
DﬁﬁThe 'mm. of all prime number, less than 067 21 @ w aei W“ﬂwﬂffﬁfﬁmi"
g ; o a 77 . @ 67
‘gﬂl (4) 48 (). A% (4) «d8

L}
LS

Wiy
068 < Foo Heel & § w—d e He A 7

o]

Ly
068 Which of the following statements are

NOT correct? A, Wmmwmﬂﬁl

ﬁ-"‘"’ Eﬂmp-usme numbers are always even. B, arvreg weaTd Tar e deand 6 E)
U:-} B. Prlmc numbers are always odd. C. & m'ﬂmﬁﬁﬂﬂ‘ﬁ%m AT T
9% C.  Sum oftwo prime numbers is always P |

prime.

D, G g Hedrst & U WA A e

fuadt

[}D Product of two composite numbers |

is a]wa}'s composite. LG O

g’* 1) A andD only (1) %@ AsiD O
(2) BahdC only 2) FMBATC o
(3) A, Bandt‘nnly (3) #EE A Bac O

4) AB,CandD (4) A.B,CarD

69 "ﬂ" party "’!fl"ﬂ‘? given to 30 children. Pizzas, e :
Burgers m}d Cold drinks were bought for | 69 30 == & O 4w T 450, 300

¥ 450, T300 and T 270, respectively. T4 X 270 % T, wfx qen st wie
}g'ﬂ Everything~was shared equally among 30 T W 7 30 T H Hre—aay 9

_}W Idren. Fhe cost of items given to each Télﬂ?ﬂﬁﬁ?ﬁiﬁﬂﬁm&ﬁrﬁrﬁfﬂm;
ﬁ]

Id was:

(1) T30 (2) T32
(1) 330 (2) %32 3 73
/jﬁ X 34 4) T35 Br B '::t} ¥3s
070 What bl;:}-!i.lld be subtracted from the sum e 4.[“]9 b 35{}9 T 2165 % AT
of 3509-and 2165 to get 40097 FRFmwEA? <
(1) 3580 (2) 3530 (1) 3580 (2} 3530
(3) 2665 41665 (3) 2665 (4) 1665
ENHOLABB24 B] ¢ lo 16 [ Contd...
GBS
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071 hich of the following is the correct | 071 fr 4, dEm 199 @ T st 2 P
representation, using Roman Numerals of

FET
the\number, 1997 N
| (1y ICC (2) CLXXC
k. CLERXNIX ;
E;j:: g::cm ‘fﬁ/—lrcccn (3) CXCIX (4) 1ICCCD

%3

\ o

072 A nuniber written using Roman Numerals | 072 /= afei & wai & & §ET
(0T — XV) - VI + MELXXIIL A -

is equal 1o xﬁg Lugi 3 ?
N~V MeLxxm (2) MCLXVIT ferte e ¥ |
= MCL (4) MCXLII (1) MCLXXIII® (2) MCLXVI
eyl < @ mer (€ \@r MexLIn
073 Harish dri';'.rf_é:s his car at a speed of =

\ 45 km/hour. H'Ewlmu:h time (in minutes) R ¥ ::;fhaﬁ‘rfazl & 3
£ vill hetake to drive 12 n? 1 10 il ek ¥ a5 e w (R )

Y (1) 2 12 = i e
A @) 16 D (4) 20 **'ff 3
= e T i (1) 9 A (@12
4
E}- b 7 * Ly 4} el))
. 074 Raman covers a distance of 24 km m (3) 16 et (
40 minutes:If he increases his speed ot

MZ— by 4 kavhour, then how much Ume | o oy 46 frrz i 24 Risfr Y g0 e BT & 19

" (in minutes) will he take to, cover the | el 4 e S g
same distance? '

11 o s A s e o (feEl ) e
28 '\ 2)
‘E’Fm L Edl} 38 (1) 28 @ 2

i (3) 36 O @) 38

-

075 Amrita wertto a market for purchasing | 075 T T g o fg T et i JE

(¥ Scanned with OKEN Scanner

gtationery ith?ns for her son, She carried
Z 500 with her. She paid T 135.50 for the
notebooks, ¥ 30.50 for pens, T 3.75 for
erasers, T J}ﬁ for a box of colours and

ot o7 T 500 et i T 135,50 F
¥ Rrg, T 30.50 Fwel & R, T3.79 i
forn, T 48 T F feedl @ fag 9ot
T 142mﬁﬁruﬁg.$mq§mmmtw

% 142 for 3 Geometry box. How much foserdl ity s Ak ?
money is leftwith her? ol L L
o wope | QT @l
(3) T140325 4 T 1457 e
( Contd..
N 7
EN/HOLAB/B/24_B ] ‘\j o
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Instructions : Each question has four options.

Prfer : gedles Fo 3 I P & | 04 T 4T ey

There is only one correct answer 10 each 0 TE Wﬁ;gﬁ#a@ﬁﬁﬁ}gﬁ?}w{hﬂﬁ
question. Choose the MOST APPROPRIATE gl 9T qald g9 &t FHIeT BT |

option and darken/blacken the corresponding
circle on the OMR Answer Sheet. !

SECTION - “C’ : INTELLIGENCE

076

076 Figures A and B are related in a particular
manner. Establish the same relationship
between figure (C) and (D) by choosing a
figure from the alternatives, which
replaces the question mark (7).

BISHA
I L4

(A) (B) (€} (L)

o PR o P9
X o [

077
077 Which of the following shapes is a part of
the given figure?
v NS
078 Which '
mm‘:; number replaces the question 078
(1) 8 (2) 7
(3) 9 (414
-N/HOLAB/6/24_B ] 18

ﬁmﬂ-—-‘(:’:gm _,"
o A airy firs B us Rafine & @ wefam &
e as g R C A Rkm D%
e T e T Sl 6 SN s fae
(7) @1 wfepenfia & B :
{A) (B} _E'ZIJ' (L)
. ]
o Bl o P
&K o K

Fr=riwiiEs amshaal & wF-dr fag o i =
Ueh U & 7

N
0[N o[

11 T 9 e (%) 3 et v a7

®© @ @(@f
(1) 8 @ 7
(3) 9 (4) 14

[ Contd..
Scanned with OKEN Scanner
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079 Complete

ﬁhh:?r:

(1) 3
(3) 5

Keen Coaching
the following analogy

EZ;G.B A
e
76

(4) 2

080 Find the odd one out :

(1) Summer

3y Season

(2) Winter
Spring

081 Find the odd one out -

_M7 121

(3) 135

082 Choose th
3,

417 BEIK

(2) 99
(4) 143

ap |
= |

¢ odd one out :

(2) ﬁ;ﬁl

() ACEG,. ) ‘BbFH

]
"|..|

083 Find the odd ":iiie out :

(1) f_: @) @
3) h[:fﬁ —ar T\

ENJ’HDL&E}E}EII-E I

8-90, P S Rao Nagar, Dammaiguda, Secunderabad, Te&g

+91 9030409797
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079 frrfafiaa gramgar 71 qof Y —

080

081

082

083

19

BDA:7::CAB: 7 .

(1) 3 ()
(3) & @
oA M E Fa wt

(1) %= (@)
(3) =g o 4)
m@fﬁiﬁiﬁlﬁﬁﬁ

(1) "121 (2)
(3) 135 C(4)
(1) BEIK (2)
(3) ACEG L0 (4)

(1) E Q)

[

99
143

CEGI
BDFH

&

3 L a® ﬁ‘

ana 500083
Scanned with OKEN Scanner
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084 There is a certain relationship between two
given words on left side of (). Choose

the correct alternative for the missing term

using the same relationship.
J'l.

Clock : Time :: Thermometer: _

»)/Htat

(2) Radiation

(3)
(4)

Temperature
Energy

085 Complete the following analogy :
g Tl B O

(1y 5
(3) &

(2) 2

2

086 Complete the analogy :
4

(2) Barn
{4)  Burrow

Lion : Den :: Horse :

(1) Byre
stable

".'\-\.\_ .

087 Complete the paitern:

AR
(1) @ (2) @
(3) @ “

20

8-90, P S Rao Nagar, Dammaiguda, Secunderabad, Te&g

+91 9030409797
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084 (: )ﬁsqaimﬂfrmﬂﬁqﬂqa’r STl o T T3
ﬁrﬁﬂﬁaﬂﬁ:%mﬁﬁﬁﬁﬂﬁaﬁnﬂﬁr

FME?

e (B ) W o A 2

(1) ==

(2) fufow

(3) T

(4)
085 ﬁﬁﬁlﬁﬂﬁgﬁﬁqﬁﬁl"{”’fﬂﬁ
O N’

) S
(3) 8

(2) 2
(4) 12

086 Trlolad geaeEdar &l gof & :

.'ﬂ'{' : Tﬁr HH EfE‘l ¥ T
(1) ThgmaT (2) wdr
(3)  sgEw (4) faw

087 ‘H"“"[ﬁﬂ?ﬂ{? %mmﬁmw

JONALY:

s @ @)

3 @ (4)
F i~ anid-

ana 500083
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088 Arrange the following in top to bottom
order:
(A) ﬂ:_and
(B) __Fa-:e
(C) ']_-‘I_eel
(D) Knee
(E) Neck
Choose the correct option from the

&

'EJRTP*)(‘\E}‘)

following:

(1) (E) (B), (A), (D), (C)
(2577 (B). (E). (A), (D), (C)
(3) (B)(E) (A), (C). (D)
(4)  (B), (E), (C), (A), (D)

089 Choose the correct mirror image of the
figure (X) :

A I B e e
(X) (@ (b)) (c) .(d)
(1) (a) (2)#fb)
(3) () "fﬁf:z}

090 Find the missing term in the following

B
= =t
b, NLIJTRE, 2 .

(1) YWV (2) Z¥YW
AEFTIXN (4) ZYV
091 Find the missing number of the series:

©.5, 2.15,24
(1) 2 (2) 4
433 (4) 13

EN/HOLAB/G/24 B

+91 9030409797

21

089

www.kranthinavodaya.in

088 Fp=fufige & ST § 99 & & § =yaitad
a—?l’ﬁ',‘r@" =
(A) s |
(B) d=a
(C) udr
(D) gz
(E) wEA
Fefafes freet F & &t o0 =1 939
]ﬁl‘h’q -
(1) (E), (B} (A)(D), (O
(2) (B)/(E),(A) (D). (C)
(3) (B), (E)1A), (C). (D)
(4) (B),(E). (C), (A), (D)

SR (X) ¥ e - o T i

A ]#8 Al X

v

(X) @ (b)) (e) (d)
(1) (a) (2) (b)
(3) (<) (4) (d)

090 Fy=fefaa sfeer & ga vz # F@ st —. .
HFD,NLJ, TRE, _2 =i
(1) YWV (2) ZYW
(3) ZXV (4) ZYV

091 & 7 sjwen ¥ gE we 76 s -

0,3, 7.15.24

(1 2 (2) 4

(3) 8 (4) 13
[Gﬂl'!td---

8-90, P S Rao Nagar, Dammaiguda, Secunderabad, Te&gana 500083
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092 Complete the following analogy :

ﬁ;;1:3::€

QED)

3 5

et

m @

3 @

O @ @

GCDIRAED

093 Choose the odd one out :
(1) School '
(2) College
(3) Hoteb

/V(A,Vl:]nivtrsityr’- o

094 Complete the following analogy :

) %‘M‘ﬂs 4]
(1) “ALNP

(2) ANLE
%%\m ANPL

_ISTLANP

095" Find the missing",i _hurnh-:r of the given

series? 01
S¥, 2,26
(1) 24 e T
(3) 19 (4). 23

o= amia R

AEDINAGE

+91 9030409797

092

093

www.kranthinavodaya.in

Prefufigs gereaar @ T B
1 4 (a)
4125 1123 d|ble): ?
3 5 \&/
) (@
o ClE[D @) @O
\C/ \&/
.«f’;\ (a)
(3) @|b|o) Eﬂ-} apb;
\d \&/
a1 & Fir=y &1 =g Sifa —
(1) fFemeg
(2) wEifETEg
(3) HeAmg
(4) fasataema

094 e geasdar &1 g &1 :

STAR : ATRS :: PLAN : _ 7 .
(1) ALNP b
(2) ANLP
(3) ANPL
(4) LANP

2,5,10, 1,26

(3) 19 ;

f4) 23

Scanned with OKEN Scanner
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096 Find the missing term in the following | gog
series:;

abc, abee, abbee, 7, aabbcce, aabbbece,
(1) abbeea Jj

(2) aabbcce

(3) aabce

appeca
e .
Fikillals{ue

ATl
A4anCc

e

09 = C | 09T wH mE faE @ AE S W A T e
7 Select the correct figure which will | L i caea i
" - HHE &I 901 HE
i | A 5

complete the given grid - |

=y " 4l
"
] ¥
: | . |
|
..-_ r
1 -
| . | -
= 5 | -
I i A,
| . |
11 I ]
i} ST .
|3tk O Talne
£
Sl
=i
::'II
L 11
k

8-90, P S Rao Nagar, Dammaiguda, Secunderabad, Te ana 500083

¢ Scanned with OKEN Scanner




Kranthi Keen Coaching

099 Arrange the following in the ascending

order.
(A)
(B)
(C)
(D)
(E)

Year
Month | :
Century Y i'
Week
Day :

Choose the correct option from those

given below:

- D), ELB) A), (©)
(2) (E).(B).,(D), (A),(C)
(3) (E), (D), (B), (A), (C)
(4) (E), (D), (A), (C), (B)

100 Arrange the following words as they occur

in the dictionary;:
(A) l,-:,,i__-“TTEfE'?.1I
(B) LITTER
(C) LEMON
©) LFTLE;
® 2Ry’

Choaose the c&nﬁm option from the
following:

(1)(C), (A), (D), (E), (B)
(2) (C), (D), (A), (B), (B)

_377(0), (A)(B), (D), (E)

(4) (A) (C)1B), (D), (E)

Ca‘ﬁ“-;‘?)

EN/HO [_.-QE.I"EJ"E‘LE ]

+91 9030409797

24

099

100
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ﬁ mﬁﬁmﬁqﬂmﬁuﬂﬁhﬁ:
(A) =9

(B) W

(C) sram=l

(D) Hme

(E) A

% fag o Pmet #9 W BT w1 g0
d N

(1) (D), E)RB)AA), (©)

(2) (EX (B)AD). (A), (C)

(33 (E), (D), (B). (A), (C)

(4 AE), (1), (A (L), (B)

hoda
-

sreteT o S A g ¥ et s @
afts #ifag -

(A) LETTER

(B) LITTER

(C) LEMON 'O

(D) LITTLE
(E) LIZARD g

Pt # & oy feern w1 e it —
(1) (C), (A). (D), (B), (B)

@) (©), D), (A)®), (E)

(3) (©.(A), ), D). @)

@) (A)(C), B), D), &)

[ Contd.-
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Instructions : Each question has Sfour options.
There is only one correct answer io each
question. Choose the MOST APPROPRIATE

option and darken/blacken the corresponding
circle on the OMR Answer Sheel.

SECTION — ‘D’ : GENERAL KNOWLEDGE

101 Who is the a[:ilmr of the famous work,
“The Man-cater of Malgudi™?

L+~ Rabindranath Tagore
(2) Ruskin Bond
(3) RK.Narayan
(4) GV. Desani

102 A Khunti is _ -
{13 An implement used to dig the soil
(2) An iron pole to tie cattle
{3) A earthen pot to cook food
.{5-}""‘ A muﬁicéﬁ;l:inatrmn:nt
103 You put a glﬂ*:.i%'iﬂf water in the sun. After
2 days, the glass is empty. Wheredid the
water go? '
It evaporated
(2} Tt condensed
(3 It fmzal_:j

{(4) Ttturned into nitrogen
&

104 Best friend nflsuil is
(1) Birds
A2+~ Earthworms
(3) Insects, -
(4) Snakes''-

EN/HOLABI6/24_B )
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Frdar : gt goT & o7 ey ¥ 1 uedes 09T &7 Fa
Ue WET FET | A ST Ay i g it OMR
TG T Gafd g e S |

fawm — “D* : FEH T

101 wfre =1 — ‘2 f9—det o ARl S

TETET T & ¢

(1) e 2
(2) T EE
(3) @TE. e
(4) oS TEE

G

(1)  fd "= 51 0% 2=

(2)  wAfr =i R W
(3) i T e w5 A

4) wmamEm

AT g 3 S el & oo frems T i
oy T, e we B WA # O e T 7
(1) == areiig & T

(2) =% HatwE s

(3) sETMTE =

(4) ﬂﬂﬁﬁﬁﬂﬂgﬁﬂﬁﬂﬂﬂl

e o A o i e B
(1) et
(2) #dY 2
(3) #e .
() =
{Gnntd.,.
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105 Gﬂmﬁﬁﬁﬂﬁlﬁ'hﬂﬁﬁﬂﬁ

: B h
105 Which solution is given whena person has e o 37

vomitting and loose motions?

(1) Milk shake _ (1) P 3
}?{f Lemon water (2) Fgurt

(3) Fruit juice | (3) i@ T
(4) Salt and Sugar (4) o od G

106 Which one among the following is NOT | 106 Wﬁﬁwmmmm@mm

a natural way of food preservation? R
Drying (1) ger
(2) By adding preservatives (2) e afEs AT
(3) Salting and sweetening 3) i et e @ wE @
(4) Pickling

() s ET

107 Which leaves can be kept in box toproteet

107 &t ) &2 © T & fog fasd o il & e
the seeds from the insects?

-8 U T W 7

(1) Neem (1 s
kx) Banyan (2) @CE
(3}~ Banana @)
{4y Mango 5 i

108 Which of the following works can NOT

be done with water that has been used 108 Frfias & & fofe & & feg us 919G
once? 7 T T gt B IwaeT e e w awal
(1) Mﬂppmg the floor (1) &30 o7 gfer FE
(2) Wﬂ&ﬁ%ng hands and face (2) 267 v g g
(3) Wetdiplants () dhefl it rfy 2
gﬁ-f Using M the toilet (4) i % geme s

- ;Hamﬁ*'ﬁm“*ﬂ ] 26 T
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109 Which of the following devices is used to
measure body temperature?

(1) Lacmmer.i.:r

(2) Barometer

{;)/Thﬂrmnmeter

(4) Speedometer
110 How many spokes are there in the wheel

placed in the centre of the Indian flag?

(1) Tiwventy six

_@/l" wenty four
{3) Twenty.ane

{(4) Twenty eight

i ‘!:.'I
111 Who wrote ‘Ramayana’?

(1) “Valmiki
(2) Vedvyas

g{ Kalidas

{4) Gyanesﬁwar

+91 9030409797

www.kranthinavodaya.in

109 Prfafas & & Fpw 4= @ s ST @

T AT 3 e e T E 7
(1) et

2wl L

g, i 8

(4) v

]

110 a7t et & % 3 Reaa wh g oo

G ?
(1) w=iE
(2) ddm O
(3) s

(4) @zeEy

! .I.'I

1 mwﬂawﬁar“ﬂ?m%?
(1) awifs
(2) e
(3) wwmifeETE
I
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112 Which one of the following is a non-
renewable resource?

J.-I’}'— Petrol

(2) Wind

(3)
(4) Solar

Bio-gas

113 InJammu & Kashmir, what does “Yakhni’
refer to?

(1) A piece of cloth worn on head by
men
(2) A non-vegetarian dish

’1,3‘)) A cultural festival

(4) A form of local dance

114 “Tadpole® is in the larval age of which

animal?

(1) nug
(2) Tiger
.@f/ Frog

(4) Goat

115 Birds like kites, eagles and vultures can
gee things from a distance of -

(4) twenty meters

en/HOLABIB124B)
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(3) ‘W aiephes TH

(4) e w1 U

AT g H T e g A EERE R Y
(1) S
(2) 9™
Haw
EETL

(3)
(4)

ﬁﬁ,ﬂﬁ@ﬁa%ﬁwﬁrm?{hﬁﬁ%ﬂ
HEHd BT

(1) =¥y
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116 What is the name of the eldest brother
among Pandavas?

13" Bheem

(3)  Yudishther

(2) Arun
{(4) Karna

117 Bihu dance belongs to which State?

Q_}f/ Assam (2) Gujarat
(3) Bihar (4) Punjab

118 Wahida Prism. Lieutenant Commander in
the Indian Navy is what tvpe of a

professional?
A1)  Doctor
Software Engineer
(3) Chef
44)

Teacher

119 How many gold medals did Tndia win in
Asian Games held in 20237
28 N2) Qs

(3)" 42 Or 14
-
A

120 Which S-T.IPBI_EEI'EEE-' is activated by langur
while:'wni:uing others of danger? X
(1) “Sight 21 Sound
{3y Skin (4) Smell

121 Which one out of the following animals
has a very strong sense of smell?

(1) Rabbit <7) Ant
(3) Cat (4) Monkey

—em e A DQIRS2A E 1

20
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gzl # 4 IH TE U A 9 2 7
(1) 4™ (2) sEA
(3) ZfueE (4) w=nt
i o0 1 HAY EE T A B
(1) e (2) ", T
(3) faeEr {4) G
W s o s waET gdEr fuey
Heer g g % USET B 7
(1) ﬁﬂﬂ T
(2} wTEET ST
(3y T
(4)  areOmd®
2023 % gu uittE gl o "W A 5w
T U i ¢
(1) 28 (2) 352
() 42 (4 14
W WAL W W YA & g5g 6
T WA Heiiiag Qg 5 Am 7
(1) =i (2) =
(3) wEn (4) 7 -
Preiferfiam # & fom uyy & g & sl
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122 We mainly get energy t6 do work from: | 122 & % % frg Sl e 91 I E

(LProteins (1) dA¥
(2) Vitamins. (2) FrEE
{3) Fats and¢carbohydrates

(3) =@ ud FEEEsed 9§

(4) Minerals-, @) 3
123 Children who live in the plains would find
it difficult to walk on the mountains 123

et @t F e T el & fo ol

because: . TETAT i B m.:i '
(1) They are'lazy. (1) & ol 8 &1
27" The paulm:an: rocky and uneven. (2) wErd R TgiE U BUE-EEs w9 g
(3) The paths are very smooth. (3)" BTE T Agd g ER E
{(4) There are no transports available on (4) WSt Ut B wFEE—re T E
mountains.
124 Where is Ehﬁl‘f__Minar situated? $ mrrT Hﬂﬁqﬂ% ?
(1) Taisalmer: | (1) Fwe
@) Pui 3 (2) g
(3) Aurangabad 3 (3) afrimam
W H}-‘dﬂ'ﬁbﬂ.ﬂ {4} %zm
125 Earth lﬂlccsil.ﬁw many days to revol {170
around the Sun? b | 125 ‘Eﬁfﬂ}fﬂﬁqnﬁqiﬁﬁ%ﬁ?ﬂqﬁmﬁr%?
1.
(2} 3{,5% days (2) 36574 fam
3) 3652 days ) 36572 e
(4) 31‘35-‘!6: days | (4) 365/3' A=
EN/HOLAB/B/24_B ] 30
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